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B | & a#| B | % |as Bk e B | &k |a# B | & | a# B | &k a# B | Kk | &
1 VAN S IS 'Y 657 732) 1,389 653 727 1,380 203 209 412 203 209 412 450 518 968 31.09 28.75 29.86
2 DR SR INE P R % 247 282 529 247 281 528 80 87 167 117 79 196 197 166 363 50 115 165| 79.76| 59.07| 68.75
3 BB ENFER 1,673 1,849 3,522| 1,668 1,841 3,509 493 468 961 493 468 961 1,175 1,373 2,548 29.56 25.42| 27.39
4 B A N I '3 1,591 1,744 3,335 1,582 1,741 3,323 486 471 957 486 471 957 1,096 1,270 2,366 30.72) 27.05| 28.80
5 o W B O 325 384 709 323 381 704 54 65 119 54 65 119 269 316 585 16.72| 17.06 16.90
6 WA A 2 — 1,057 1,092 2,149 1,052 1,088 2,140 282 282 564 282 282 564 770 806/ 1,576 26.81 25.92| 26.36
7 - N 852 967 1,819 849 962 1,811 309 295 604 309 295 604 540 667 1,207 36.40 30.67| 33.35
8 VS "SR N T 4 1,181 1,260| 2,441| 1,175 1,256 2,431 411 445 856 411 445 856 764 811 1,575 34.98| 35.43| 35.21
9 13274 1,126/ 1,118 2,244| 1,122 1,112] 2,234 305 269 574 305 269 574 817 843 1,660 27.18 24.19| 25.69
10 > L /N % & 709 777 1,486 706 775) 1,481 250 238 488 250 238 488 456 537 993 35.41 30.71 32.95
11 M W K 308 337 645 308 336 644 122 110 232 122 110 232 186 226 412 39.61 32.74 36.02
12 % % &~ R # 578 628 1,206 576 628 1,204 192 186 378 192 186 378 384 442 826 33.33| 29.62 31.40
13 H = K # f# 278 282 560 278 280 558 64 52 116 64 52 116 214 228 442 23.02| 18.57 20.79
14 1 H B /¥ K 1,465 1,487 2,952 1,462 1,483 2,945 414 388 802 414 388 802| 1,048 1,095 2,143 28.32 26.16| 27.23
15 = Riftvy-s & 517 470 987 515 469 984 136 116 252 136 116 252 379 353 732 26.41] 24.73 25.61
16 & B /A K 655 720 1,375 649 716| 1,365 214 216 430 214 216 430 435 500 935 32.97/ 30.17 31.50
17 23az74-tvi-HiBSHE 685 774 1,459 679 769 1,448 190 206 396 190 206 396 489 563 1,052 27.98 26.79 27.35
18 db/h & /hF K 1,100, 1,180 2,280/ 1,095 1,175 2,270 308 331 639 308 331 639 787 844 1,631 28.13) 28.17| 28.15
19 /M B P 5K 302 315 617 301 314 615 82 83 165 82 83 165 219 231 450 27.24| 26.43 26.83
# = OPT i 15,306/ 16, 398| 31, 704| 15, 240| 16, 334 31,574 4,595 4,517 9,112 117 79 196| 4,712 4,596 9,308 10,528 11, 738| 22,266, 30.92 28.14 29.48
20 # B &1 & E 2,433 2,970 5,403 15.96, 18.18] 17.11
N & G 15,306/ 16, 398| 31, 704| 15, 240| 16, 334 31,574 4,595 4,517 9,112 117 79 196 7,145 7,566 14,711 8,095 8, 768| 16,863 46.88 46.32 46.59
3 IF sk # = 3 8 11 3 8 11 2 4 6 2 4 6 1 4 5 66.67 50.00| 54.55
a i 15,309 16, 406| 31, 715| 15, 243| 16, 342 31,585 4,595 4,517 9,112 119 83 202) 7,147 7,570| 14, 717) 8,096, 8,772| 16, 868] 46.89| 46.32| 46.59




